



姓名: _____

日期: _____ 分数: _____

$$\left(-\frac{1}{4}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(\frac{1}{3}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right) + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{3}\right) =$$



姓名: _____

日期: _____ 分数: _____

$$\left(-\frac{1}{4}\right)^{(-2)} + \frac{3}{5} = \frac{83}{5} = 16\frac{3}{5}$$

$$\left(\frac{1}{3}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{6}\right)$$

$$\left(\frac{1}{4}\right)^2 - \frac{2}{5} = \left(-\frac{27}{80}\right)$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{50}\right)$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{98}{45} = 2\frac{8}{45}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) = \frac{1}{2}$$

$$\left(-\frac{3}{4}\right) + \frac{1}{5} = \left(-\frac{11}{20}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{3}{2}\right) = \left(-1\frac{1}{2}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{2} = \frac{9}{16}$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(\frac{2}{5}\right) - \left(-\frac{1}{6}\right) = \frac{17}{30}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{22}{5} = 4\frac{2}{5}$$

$$\left(\frac{1}{6}\right)^{(-2)} - \frac{1}{2} = \frac{71}{2} = 35\frac{1}{2}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{1}{5} = \frac{81}{5} = 16\frac{1}{5}$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{3}\right) = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$